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Class Notes - Leeture 20 (Thas ) 5 November 2009
CeA: £F=0and 2T =0
T=30n
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Other moments of inectia: given onthe exam
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Newtons Second Law qun Retafion
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CGA: Torque applied”?
T=-mqk (= -7R)
right hand rule: negative
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Demo: accelerates faster when mass i in the center

Than when masess are at the ends

L conserved no matter what!
Tmpulse: 27T = /o
T 21=0, Li=Ll¢ or L = el
Demo : \g?m SOMme whee'\, give Yo person siﬁing in a chair, and as
he turns the wineel, the chair will also rotate
_ . Demo: Give weights To person in chair, Spin chair — when hels
Tao, 4T - holding weights in close, he'll spin faster than when hels
holding his artns cut (ie: the iceskater)

Tnan isolated system, whats conserved?
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